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The two masses m;= 2.0 kg and m> = 3.0 kg are released from rest. Consider the pulley as a disk of

mass M = 2.0 kg and radius R =20 cm. Calculate the spéed the 3.0-kg mass after it has fallen 1.0 m.
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The figure shows a uniform thin rod, with mass m1 = 2.00 kg and length L = 10.0 cm, attached to a

uniform solid sphere, of mass m2= 3.00 kg and diameter 7.00 cm. The system is rotating about the y
axis with angular speed of 200 rev/min.
(a) Calculate the rotational inertia of the system about the y-axis.
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(b) Calculate the kinetic energy of the system.
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A thin rod of mass 0.50 kg and length 2.5 m is pivoted at one end and can rotate in a vertical plane about a
frictionless pivot. It is released from rest when the rod makes an angle of 45° above the horizontal.
(a) Calculate the angular speed of the rod as it passes through the horizontal position.
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(b) Calculate the linear speed of the center of mass of the rod.
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(c) Calculate the angular acceleration of the rod if the time taken from initial to final position is 2.0 s.
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